Discounted-cash-flow calculations based on
continuous interest compounding and continuous

cash flow

Example 2 Using the discount factors for continuous interest
and continuous cash flow presented in Tables 5 to 8 of Chapter 7,
determine the continuous discounted-cash-flow rate of return r for
the example presented in the preceding section where yearly cash
flow Is continuous. The data follow.

Initial tied-capital investment = $100,000

Working-capital investment = $10,000

Service life =5 years

Salvage value at end of service life = $10,000
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NET PRESENT WORTH

Net present worth (or net present value or venture worth
substitutes the cost of capital at an interest rate 1 for the
discounted-cash-flow rate of return

The net present worth of the project is then the difference
between the present value of the annual cash flows and the initial
required investment.



NET PRESENT WORTH

To illustrate the method for determining net present worth,
consider the example presented in Table 1 for the case where the
value of capital to the company Is at an interest rate of 15 percent.

Under these conditions, the present value of the cash flows is

$127,000 and the initial investment is $110,000. Thus, the net
present worth of the project is:

$127,000 - $110,000 = $17,000



TABLE 1

Computation of discounted-cash-flow rate of return
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